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Classifying Palynomials be Degree nlal i 25
Constant 0 Sx° 55t 1 monomial
Linear 1 L —
Quadratic 2 Xy 3v—1 Tx—4 2 binomial
Cubic 3 S o e T 3 trinomial
Quartic 4 D L [ : e OF
Quintic 5 7;51;‘1‘—; : 3;: +x2x-1 A =Sa 2 =t "“ + P.".’!“omialo
a) 2%* ~5x' +3-6x b) 3x —8x* —x° +3x? -1
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Standard Form: 5X % 24\ bk t 3 X Standard Form: = X ~ qu *3 Xi + oX "",

Leading Coefficient: = 5 Degree: ‘-l Terms: 4

Name: @uar-\'\c )o\y nem\a\

Leading Coefficient: -\ Degree: 5 Terms: 5

Name: ®um‘&'\1 —?a\nm naa\

Identifying Like Te
-> same variable raised to the same power
Examples:  4yand 7y 8x” and -4x* 7m®y and m°y
Non Examples: 3x?and3x  8mand 6n
Like Terms?
15xy? and 12x2y 13 and -4

3x%y anyyxz

Adding Polynomials:
3x2 +4x + 5x* +6x

3x* +5xt aHx4lp X

Bx* +w0ox %l

Identify Like Terms
Rearrange terms so that like terms are together

Combine Like terms
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EX: 6x -—4xy+8y x)+ny| 22 x!'
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Po ials:

6y +3y* =7 =@2y* -y’ +3)

Y * | 2 @ X Distribute the negative
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L{ 4 - Identify Like Terms
Vg =

iov " LA Rearrange terms so that like terms are together

Combine like terms.
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EX: (4% = x* +10)Z(3x® —x* ~13) EX:  (10a’ +3a%b—ab)— (84" —a’b+2)
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Multiplying Monomials:

Multiplying Monomials by

Polynomials:

Multiplying Binomial by

Endici=>
2% 40X +x ~ 5

X% -9x -5

2x}(5) + )cuﬁ.;. a(s)
10%* ¥5x +20

(5x7)(4x") (12x°y*)(4xy°)
5 9\ (x* %) D63y \/‘)
2‘0 )(5- - 4R x“‘ \IO
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—x2(9x2 —6x +12)
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2y* +3y +7y —y?

2) 12x° + 10x* - 8x°

=R N
| 3) (6x* + 3x) + ( 2x% + 6x)

4) -5xt 4+ 3 - 7x3 - 4x*

S) (2y°-6y® + 1)+ (y®+8y*-2y%-1)

Q\ (@20 (@12t 16)
4 t°-2t) - (t° +2t +
W)t‘- Pl £ V)

£ -t -

7)  (m?-10m+5) + (8m + 2)

8) ) (6x°+5x)+ (4x% +x%-2x +9)
lOx*+x*+3x4 9

9) (4c®+8c®-2c-2) - (c®-2c+5)

RN
@ (4% +3)(x-0)
Hx ™o 24d4x 4 3x -\8
Hy*-21x -18
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11) 4a(3a®-a+2) - (a® +2a% +4) 12) 8a - 2(3a +4)
¥a - Lo -8
20 -8
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13)  (4xy +3x-7x°y) €380y - 2 + XY) 14) (XT+0)(2x43)
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